1 Sed

00'0 000" 000 000 000 00°08.'L08 00'082°108 (z1°00+£0°00 P02 ) ALNIUND IINLINIA 1 2000, zI
: (11°00+91°00+20°00 PO9)
000 00'0 00'0 000 000 00'000°128 00°000°128 FYYNOILONNA 3A INNLLOFS WHNLINTA 1000 1
aleuonoun; sp
eaunposs nijuad Juapadeaid Injnue |njuepaoxe
000 000 000 000 000 00'0ZZ 64 00'022°61 uip 3[e00| S|MesiuiWpe Sp ajezIn swng 1051010F o1
(Z0°SL°03°0v+1L0°GL 0L OF POD)
1j8IN}ayo ap easeniosje niuad spasaid
00'0 00'0 00'0 000 000 00'02Z'64 00°02Z 64 Injnue [NUSpaOXa uip sjezin swns - GL0L0Y 6
(91°01°0F +G1 01 0¥pPOD) Sjepiooe
00'0 00'0 000 00'0 000 00'02Z°61 00'02Z'61 Jojuninwiniduw B3JeSINGLIES UIP LESEOU| otoy 3
(oL ip+0L°OF
000 000 000 00'0 000 00'0ZZ 61 00'02Z'61 pod) FYVIONVNIL INNLLYHILO Tl 9100 L
00'0 00'0 00'0 00'0 000 00'082°L08 00'082°108 unyusA 8lly  .0S019¢ 9
(0G°01°9€+2E°0L 9+
00'0 00'0 000 000 000 00°08.°108 00°082°108 ¥0°01°9E POD) UNYUBA ASISAI] olLoe S
(01°26+01°9€+01 'GE+0L ¥E+0L 'EE
000 00°'0 00'0 000 000 00'08°108 000827108 PO9) [IDIAYIS IS RINNNEG 30 IYVZNVA 2O 7100 ¥
(F1°00+€1°00
00'0 00'0 00'0 00'0 00'0 00'08/°108 00'084°108 po2 ) ITVOSII3N RINLINIA D 2100 £
00'0 00'0 000 000 00'0 00'082°108 00'082°108 {(21°00+€0°00 POO ) IINIUND IFNLINIA i 2000 4
(01°8%+01'SP+L1°00+91 00+51 00+Z0 00 -
00'0 000 000 000 00'0 00'000°128 00'000°428 PO2) IYNLINIA TVLOL 1000 I
ajeba)
31098 yieid ap ofebs| | Jopjuawelebue ajebay aleyebng ajeuisawiLy ajenue (joonie 7 njyy 7 deo)jeqosde (njmebing Pd
amyayn suswelebuy | ousioe neld | euswelebuy ; sjuswelebuy | aselebng aupai) aiejabng aypaid 191E21ISBIO BSUNIZIAIPANS IN
Zovool (. Injondeogng
Joyadns Jepunoas Jugweleau| ZoyooLss S9 (. \njoyden
120T / | tun] 3jaul} g
JLVAVONY JHV.LIIONg HOFINLTIHD VILNDIAXA ANIARI VILVNLIS
13ILYIWHVYIN NLTHOIS ‘esle}eco
L} exauy SAHUNINVYHEVYIN IMepnr




[

1000

000 000 000 000 00'0 00'000°90. 00'000°90. (20°'€0°02+10°€0°0Z PO9) euesH £00¢ 6¢
o . , aleuopouny

o 00’0 000 --jo0’0 00’0 00°'000°00} 00'000°004 Is 3Jouanu; niuad OGS 1S UNUNG BNV 0E1002 8

‘ jeuofouny -

000 000 8.0 00‘oc 000 000 J18j0eiED NO NOIAISS 8p tm«wmga IS B|euslein’ 601002 Lz

00'0 00'0 00'0 1000 00'0 00'000°G4 00'000°GL BOLjOW BOJ IS Jeulwn|| ‘yzjeou] - €01002 92
(0£'10°02+60°10°02

000 00'0 000 000 000 00°000°G1 00'000°GL1 ] L0'L0°0Z PO2) 11I0IAIDS IS LInung 100z §T
(0e'02+.2°02+52°02
€| 81°0Z+91 0Z Bl 60°02+90°0Z &

000 00'0 00'0 000 00'0 00000128 00'000'128 10°0Z POO) IIDIAYIS IS I4NNNE 11 TNTLIL 0z ¥T
(6G+/6+4S65+4S15+05+0V+0E+02+01

000 00'0 00'0 00'0 00'0 00'000°128 00'000°128 PO2) JINIHUNO IMIINLIIHD 0 €T
(G8+6/+10

00'0 00°0 000 000 00'0 00'000°128 00'000°428 POd) ZHVNOILLONNA 30 VANNILO3S E| ré
(3¥v1IoAz3a
30 VANNILLOIS+IHVYNOLLONNA

000 00'0 00'0 000 000 00'000°128 00'000°128 330 VANNILOFS) 3INLTAHD TVL0L 1z
aleuoijoun) ap
eaunnoss njuad juspasaid njnue |Mmuapaoxs

000 00'0 000 00'0 000 00'02Z'61 00'02Z'61 Ulp 8j00] ajesisiuiipe sp ajezliin swing L0S1L010p 0z
(10°S1°01°0% pod)
l[2In}ayo ap easen)oays nijuad juspacesd

00'0 000 00’0 000 000 00'0zZ 61 00'0zZ'61 Innue |njuspadxa ulp SleZIN 3WNg G100V 61
(G1°01"0PPOO) 8}EpIOOE

00'0 00°0 000 000 000 00'02Z'61 00'02Z'6} fojumnuuniduw) E.1ESINGIE. UIp LESEsU| ooy, g1
(oL 1p+0L0p

000 00'0 000 000 000 00'02Z°61 00'0zZ61 P0d) JYVIONVNIL INNILYHIHO il 9100 Ll

000 000 000 000 00'0 00'08.°108 00'082°108 UNMUSA 3l  0G019¢ 91
(0S°01°9€+2€°01L°9E+¥0°01 "9

000 000 00’0 00’0 00'0 00'08.°108 00'082°108 P02) LNJUAA 8sIoAI] oloe ST
(01 2£+01°9€+01 ' GE+01 YE+0L'EC

000 000 000 000 000 00'084°108 00'082°108 PO2) 1IDIAYIS IS IINNNE 3a IYVZNVA 2O ¥100 ¥1
w (P1°00+€1°00

000 00'0 000 00'0 100'082°108 00'08.°108 PO2 ) ITVOSI4IN RINLINIA O ctoo g1




€ 3ed

000

00'0

00'0

000

000

000

000

00'0

000

000

00'0

00'000790.

00°000°90Z

ajejeutels ul uesejdaq

20900¢

juaweo njuad euesy

vomooww

0¢




